

Home Search Collections Journals About Contact us My IOPscience

Normal ordering expansion of *n*-dimensional radial coordinate operators gained by virtue of the IWOP technique

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2003 J. Phys. A: Math. Gen. 36 1531 (http://iopscience.iop.org/0305-4470/36/5/326) View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.89 The article was downloaded on 02/06/2010 at 17:20

Please note that terms and conditions apply.

J. Phys. A: Math. Gen. 36 (2003) 1531-1536

PII: S0305-4470(03)56222-9

ADDENDUM

Normal ordering expansion of *n*-dimensional radial coordinate operators gained by virtue of the IWOP technique

Hongyi Fan^{1,2} and Liang Fu³

¹ CCAST (World Laboratory), PO Box 8730, Beijing 100080, People's Republic of China
 ² Department of Material Science and Engineering, University of Science and Technology of China, Hefei, Anhui 230026, People's Republic of China
 ³ Special Class of Gifted Young, University of Science and Technology of China, Hefei,

Anhui 230026, People's Republic of China

Received 7 November 2002 Published 22 January 2003 Online at stacks.iop.org/JPhysA/36/1531

Abstract

By virtue of the technique of integration within an ordered product of operators we derive the normal ordering expansion of the power of radial coordinate operators in the *n*-dimensional coordinate space. The use of Bessel function has greatly simplified the calculation. Moreover, the use of Kummer's first formula for the confluent hypergeometric function makes the result neat and concise.

PACS number: 03.65.Pm

1. Introduction

In a recent paper [1] we have derived the normal ordering expansion of the Dirac's radial momentum operator [2], and the operator identities of the power of the radial coordinate operator \hat{r} , \hat{r} corresponds to the radius value $r = \sqrt{x_1^2 + x_2^2 + x_3^2}$. The derivation is proceeded by virtue of the technique of integration within an ordered product (IWOP) of operators [3]. For example, we have shown that the normal ordering of \hat{r}^k (k = 2m is even)

$$\hat{r}^{2m} = \sum_{l=0}^{m} \frac{(2m+1)}{4^l (2m+1-2l)! l!} : |\hat{r}|^{2m-2l} :$$
⁽¹⁾

where :: denotes normal ordering, $\hat{r}^2 = X_1^2 + X_2^2 + X_3^2$, X_i is related to bosonic creation operator a^{\dagger} and annihilation operator *a* by

$$X_i = \frac{1}{\sqrt{2}} \left(a_i^{\mathsf{T}} + a_i \right). \tag{2}$$

An interesting question thus naturally arises: formula (1) holds in the three-dimensional coordinate case, and r is SO(3) rotation invariant. How about if r is SO(n) rotation invariant,

0305-4470/03/051531+06\$30.00 © 2003 IOP Publishing Ltd Printed in the UK 1531

which means when $r = \sqrt{x_1^2 + x_2^2 + \dots + x_n^2}$, $\hat{r}^2 = X_1^2 + X_2^2 + \dots + X_n^2$, then how to modify formula (1)? To put it in another way, what is the normal ordering expansion of operator \hat{r}^k defined in *n*-dimensional coordinate space? In the following we shall employ the IWOP technique to discuss it.

We study the Hermitian radius operator \hat{r}^k in *n*-dimensional coordinate space via the equation

$$\hat{r}^{k} = \int \mathrm{d}^{n} \vec{x} \, |\vec{x}\rangle \langle \vec{x} | r^{k} \tag{3}$$

where $|\vec{x}\rangle$ is the *n*-dimensional coordinate eigenvector $|\vec{x}\rangle = |x_1\rangle|x_2\rangle \cdots |x_n\rangle$. As the first step, we use the IWOP technique to truely perform the integration of $\int d^n \vec{x} |\vec{x}\rangle \langle \vec{x} |$ in spherical polar coordinates to confirm both the *n*-dimensional completeness relation and the feasibility of the IWOP technique.

1.1. Preparation for the integration in n-dimensional spherical polar coordinate

The Fock space expansion of the n-dimensional coordinate eigenvector is

$$|\vec{x}\rangle = \pi^{-\frac{n}{4}} \exp\left\{\sum_{i=1}^{n} \left[-\frac{1}{2}x_{i}^{2} + \sqrt{2}x_{i}a_{i}^{\dagger} - \frac{1}{2}a_{i}^{\dagger^{2}}\right]\right\}|\vec{0}\rangle.$$
 (4)

Using the normal ordering of the *n*-mode vacuum state projector

$$|\vec{0}\rangle\langle\vec{0}| = :\exp\left[-\sum_{i=1}^{n} a_{i}^{\dagger}a_{i}\right]:$$
(5)

and defining $r^2 = \sum_{i=1}^n x_i^2$, $\vec{x} = (x_1, x_2, \dots, x_n)$, $X_i = \frac{1}{\sqrt{2}} (a_i + a_i^{\dagger})$, $\vec{X} = (X_1, X_2, \dots, X_n)$, we have

$$|\vec{x}\rangle\langle\vec{x}| = \pi^{-\frac{n}{2}} : \exp\left\{\sum_{i=1}^{n} \left[-x_i^2 + \sqrt{2}x_i\left(a_i + a_i^{\dagger}\right) - \frac{1}{2}\left(a_i^{\dagger^2} + a_i^2\right) - a_i^{\dagger}a_i\right]\right\} :$$

= $\pi^{-\frac{n}{2}} : \exp\{-r^2 + 2\vec{x}\cdot\vec{X} - \vec{X}^2\} :.$ (6)

X is now within the normal ordering symbol :: and can be treated as a *c*-number vector when one performs an integral over \vec{x} in equation (6). For simplifying the integration, we rotate the frame of coordinate system \vec{x} to $\vec{x'}$, a new frame of coordinates whose one component x'_1 axis directs along the \vec{X} vector, so that $\vec{x} \cdot \vec{X} = x'_1 \sqrt{X_1^2 + X_2^2 + \dots + X_n^2}$. This rotation, keeping both the radius $r = r' = \sqrt{\sum_{i=1}^n x_i^{2^i}}$ and the integration measure invariant, is an orthogonal transformation with Jacobian being 1. Then equation (6) becomes

$$\int d^{n}\vec{x} \, |\vec{x}\rangle\langle\vec{x}| = \pi^{-\frac{n}{2}} : \int d^{n}\vec{x'} \exp\{-r'^{2} + 2|\hat{r}|x'_{1} - |\hat{r}|^{2}\}:$$
(7)

where we have defined

$$|\hat{r}| = \sqrt{X_1^2 + X_2^2 + \dots + X_n^2}$$

Now we are ready to integrate $d^n \vec{x'}$ of (7) in its *n*-dimensional spherical polar coordinate.

Firstly, we transform $d^n \vec{x'}$ to the volume element in spherical polar coordinates by setting

$$\begin{aligned} x_1' &= r' \cos \theta_1 \\ x_2' &= r' \sin \theta_1 \cos \theta_2 \\ \cdots \\ x_{n-1}' &= r' \sin \theta_1 \sin \theta_2 \cdots \sin \theta_{n-2} \cos \theta_{n-1} \\ x_n' &= r' \sin \theta_1 \sin \theta_2 \cdots \sin \theta_{n-2} \sin \theta_{n-1} \end{aligned}$$

where $0 \le \theta_1 < \pi, \dots, 0 \le \theta_{n-2} < \pi, 0 \le \theta_{n-1} < 2\pi$. The Jacobian for the transformation is

$$J = \frac{\partial(x'_1, x'_2, \dots, x'_n)}{\partial(r', \theta_1, \dots, \theta_{n-1})} = r'^{n-1} \sin^{n-2} \theta_1 \sin^{n-3} \theta_2 \cdots \sin \theta_{n-2}.$$

Therefore,

$$\int d^{n}\vec{x} \, |\vec{x}\rangle\langle\vec{x}| = \pi^{-\frac{n}{2}} \int_{0}^{\infty} \int_{0}^{\pi} \cdots \int_{0}^{\pi} \int_{0}^{2\pi} dr' \, d\theta_{1} \cdots d\theta_{n-2} \, d\theta_{n-1} \\ \times r'^{n-1} \sin^{n-2}\theta_{1} \sin^{n-3}\theta_{2} \cdots \sin\theta_{n-2} : \exp\{-r'^{2} + 2|\hat{r}|r'\cos\theta_{1} - |\hat{r}|^{2}\} :.$$
(8)

Using the well-known formula

$$\int_0^{\pi} \sin^m \theta \, \mathrm{d}\theta = \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{m+1}{2}\right)}{\Gamma\left(\frac{m}{2}+1\right)}$$

where Γ is the Gamma function, and adopting the IWOP technique we perform the integrations over the azimuth angles $\theta_2, \theta_3, \ldots, \theta_{n-1}$ in (8) one by one, and obtain

$$\int d^{n}\vec{x} \, |\vec{x}\rangle\langle\vec{x}| = \frac{2}{\sqrt{\pi}\Gamma\left(\frac{n-1}{2}\right)} : \int_{0}^{\infty} dr' \, r'^{n-1} \, e^{-r'^{2}} \int_{0}^{\pi} d\theta_{1} \sin^{n-2}\theta_{1} \, e^{2|\hat{r}|r'\cos\theta_{1}} \, e^{-|\hat{r}|^{2}} : . \tag{9}$$

Then we recall the Poisson integration formulation [7]

$$J_{\nu}(z) = \frac{(z/2)^{\nu}}{\sqrt{\pi}\Gamma(\nu+1/2)} \int_0^{\pi} \exp(iz\cos\theta)\sin^{2\nu}\theta \,\mathrm{d}\theta \qquad \operatorname{Re}(\nu) > -\frac{1}{2} \quad (10)$$

where $J_{\nu}(z)$ is the Bessel function, and z and ν are complex numbers. To further carry out the integration over $d\theta_1$ in (9) we let $-2i|\hat{r}|r'=z, \frac{n}{2}-1=\nu$ (note $n \ge 3$), and use (10) to obtain

$$\int_{0}^{\pi} \mathrm{d}\theta_{1} \sin^{n-2}\theta_{1} \, \mathrm{e}^{2|\hat{r}|r'\cos\theta_{1}} = \frac{\sqrt{\pi}\Gamma\left(\frac{n-1}{2}\right)}{(-\mathrm{i}|\hat{r}|r')^{\frac{n}{2}-1}} J_{\frac{n}{2}-1}(-2\mathrm{i}|\hat{r}|r'). \tag{11}$$

Substituting (11) into (9) yields

$$\int d^{n}\vec{x} \, |\vec{x}\rangle\langle\vec{x}| = 2: \int_{0}^{\infty} r^{\prime^{\frac{n}{2}}} e^{-r^{\prime^{2}}} J_{\frac{n}{2}-1}(-2\mathbf{i}|\hat{r}|r') \, dr' \frac{e^{-|\hat{r}|^{2}}}{(-\mathbf{i}|\hat{r}|)^{\frac{n}{2}-1}}:.$$
(12)

Using the definition of Bessel function [7]

$$J_{\nu}(z) = \sum_{l=0}^{\infty} \frac{(-1)^{l} z^{2l+\nu}}{l! \Gamma(\nu+l+1)}$$
(13)

and that of the Gamma function

$$\Gamma(z) = \int_0^\infty e^{-t} t^{z-1} dt \qquad \operatorname{Re}(z) > 0 \tag{14}$$

we obtain

$$\int d^{n}\vec{x} \,|\vec{x}\rangle\langle\vec{x}| = 2: \int_{0}^{\infty} r'^{\frac{n}{2}} e^{-r'^{2}} \left(\sum_{l=0}^{\infty} \frac{(-1)^{l}}{l!\Gamma\left(\frac{n}{2}+l\right)} (-i|\hat{r}|r')^{2l+\frac{n}{2}-1} \right) \,dr' \frac{e^{-|\hat{r}|^{2}}}{(-i|\hat{r}|)^{\frac{n}{2}-1}}:$$

$$=: \sum_{l=0}^{\infty} \frac{1}{l!\Gamma\left(\frac{n}{2}+l\right)} \left(\int_{0}^{\infty} e^{-\lambda} \lambda^{l-1+n/2} \,d\lambda \right) |\hat{r}|^{2l} e^{-|\hat{r}|^{2}}:$$

$$=: \sum_{l=0}^{\infty} \frac{1}{l!} (|\hat{r}|^{2})^{l} e^{-|\hat{r}|^{2}}:= 1.$$
(15)

By far, we have used the IWOP technique to confirm the *n*-dimensional completeness relation $\int d^n \vec{x} |\vec{x}\rangle \langle \vec{x} |$ in spherical polar coordinates.

2. The normal product form of the radial coordinate operator \hat{r}^k in n-dimensional coordinate space

Now using (3) and (15) as well as the IWOP technique, we can derive the normal product form of the radial coordinate operator \hat{r}^k ,

$$\hat{r}^{k} = 2 : \left(\int_{0}^{\infty} dr' \, r'^{\frac{n}{2}+k} \, e^{-r'^{2}} J_{\frac{n}{2}-1}(-2\mathbf{i}|\hat{r}|r') \right) \frac{e^{-|\hat{r}|^{2}}}{(-\mathbf{i}|\hat{r}|)^{\frac{n}{2}-1}} :$$

$$= : \sum_{l=0}^{\infty} \frac{1}{l!\Gamma\left(\frac{n}{2}+l\right)} \left(\int_{0}^{\infty} e^{-\lambda} \lambda^{l-1+\frac{n+k}{2}} \, d\lambda \right) |\hat{r}|^{2l} \, e^{-|\hat{r}|^{2}} :$$

$$= : \sum_{l=0}^{\infty} \frac{(-1)^{l}\Gamma\left(l+\frac{n+k}{2}\right)}{l!\Gamma\left(\frac{n}{2}+l\right)} |\hat{r}|^{2l} \, e^{-|\hat{r}|^{2}} : .$$
(16)

With the help of the recurrence relation of the Gamma function [7]

$$\Gamma(z+n) = (z+n-1)(z+n-2)\cdots z\Gamma(z) \qquad (n \text{ is an integer}, n \ge 1)$$

equation (16) becomes

$$\hat{r}^{k} = : \frac{\Gamma\left(\frac{n+k}{2}\right)}{\Gamma\left(\frac{n}{2}\right)} \sum_{l=0}^{\infty} \frac{\left(\frac{n+k}{2}\right)_{l}}{l! \left(\frac{n}{2}\right)_{l}} |\hat{r}|^{2l} e^{-|\hat{r}|^{2}} :$$
(17)

where we have defined

$$(\lambda)_0 = 1, \dots, (\lambda)_n = \lambda(\lambda+1)\cdots(\lambda+n-1) = \frac{\Gamma(\lambda+n)}{\Gamma(\lambda)} \qquad n \ge 1$$

For simplicity, it is worthwhile to rewrite the above result in terms of the confluent hypergeometric function $F(\alpha; \gamma; z)$,

$$F(\alpha;\gamma;z) = \sum_{l=0}^{\infty} \frac{(\alpha)_l}{l!(\gamma)_l} z^l.$$
(18)

Thus

$$\hat{r}^{k} = : \frac{\Gamma\left(\frac{n+k}{2}\right)}{\Gamma\left(\frac{n}{2}\right)} F\left(\frac{n+k}{2}; \frac{n}{2}; |\hat{r}|^{2}\right) e^{-|\hat{r}|^{2}} : .$$
(19)

Further, using Kummer's first formula [8]

$$F(\alpha; \gamma; z) = e^{z} F(\gamma - \alpha; \gamma; -z)$$
(20)

we can further simplify (19) as

$$\hat{r}^{k} = : \frac{\Gamma\left(\frac{n+k}{2}\right)}{\Gamma\left(\frac{n}{2}\right)} F\left(-\frac{k}{2}; \frac{n}{2}; -|\hat{r}|^{2}\right) : .$$

$$(21)$$

By far, we have derived the normally ordered expansion of power of radial coordinate operator \hat{r}^k in *n*-dimensional coordinate space. Note that *n* denotes the dimension of coordinate space.

In particular, when n = 3, (19) reduces to (note $(-m)_{m+1} = (-m)_{m+2} = \cdots = 0$)

$$\hat{r}^{2m} = : \frac{\Gamma(m + \frac{3}{2})}{\Gamma\left(\frac{3}{2}\right)} F\left(-m; \frac{3}{2}; -|\hat{r}|^2\right) := : \frac{(2m+1)!!}{2^m} \sum_{l=0}^m \frac{(-m)_l}{l! \left(\frac{3}{2}\right)_l} (-|\hat{r}|^2)^l :$$

$$= : \sum_{l'=0}^m \frac{(2m+1)!!2^{-l'}m!}{l'!(m-l')!(2m-2l'+1)!!} |\hat{r}|^{2m-2l'} :$$

$$= : \sum_{l'=0}^m \frac{(2m+1)!}{4^{l'}l'!(2m-2l'+1)!} |\hat{r}|^{2m-2l'} :$$
(22)

as expected. When n = 4, (21) reduces to

$$\hat{r}^{2m} = :(m+1)! \sum_{l=0}^{m} \frac{(-m)_l}{l!(2)_l} (-|\hat{r}|^2)^l :$$

$$= :(m+1)! \sum_{l'=0}^{m} \frac{(-m)_{m-l'}}{(m-l')!(2)_{m-l'}} (-|\hat{r}|^2)^{m-l'} :$$

$$= :\sum_{l'=0}^{m} \frac{(m+1)!m!}{l'!(m-l')!(m-l'+1)!} |\hat{r}|^{2m-2l'} :.$$
(23)

Equations (23) and (22) are quite different.

In summary, we have derived the normal product form of the radial coordinate operator \hat{r}^k in the *n*-dimensional coordinate space, which is a non-trivial generalization of [1]. Comparing the derivation of this work with the integration procedures in our previous paper [1], we conclude that the use of Bessel function defined in (18) has greatly simplified the calculation. Moreover, the use of Kummer's first formula for the confluent hypergeometric function makes the result neat and concise.

Acknowledgments

This work is supported by the National Natural Science Foundation of China under grant 10175057 and the President Foundation of Chinese Academy of Science.

References

- [1] Fan Hongyi and Chen Jun-hua 2001 J. Phys. A: Math. Gen. 34 10939
- [2] Dirac P A M 1958 Principles of Quantum Mechanics 3rd edn (Oxford: Oxford University Press)
- [3] Fan Hongyi, Zaidi H R and Klauder J R 1987 Phys. Rev. D 35 1831
- [4] Wünsche A 1999 J. Opt. B: Quan. Semiclass. Opt. 1 R11 Fan H Y 1990 J. Phys. A: Math. Gen. 23 1833

Fan H Y 1990 J. Phys. A: Math. Gen. 25 4269

- Fan H Y and Vandelinde J 1991 J. Phys. A: Math. Gen. 24 2529
- [5] Fan H Y and Cheng H L 2001 J. Phys. A: Math. Gen. 34 5987
- [6] Fan H Y and Zaidi H R 1987 Phys. Lett. A **124** 303
- [7] Whittaker E T and Watson G N 1927 A Course of Modern Analysis 4th edn (Cambridge: Cambridge University Press) p 366
- [8] Wan Zhu-xi and Guo Dun-ren 2000 An Introduction to Special Function (in Chinese) (Peking University Press) p 290